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2 = a & = =551 JE e EX} fog e k53
ol 1 |2ERIE cfu/mL 100013t 0 0 0 D D
A& | 2 |&EUE3Z (Total Coliforms) ND/mbL ND/100mL 2HE =2HE =HE =HE E2HE
(f) 3 [EREWERE (Fecal Coliform) ND/mL | ND/100mL
4 |0&a ND/mL ND/100mL E2dE EHE =HE EHE =2HE
5 |kt {Pb) mg/L 0.010| 8} 2HE EHE E2HE 2dE
6 |24 (F) mg/L 1.50151 =2HE EHE E2E =HE
8 | 7 [Ei (As) mo/L 0.010( 5} =& SHE =HE =HE
gl 8 |Hlals (Se) ma/L 0.,01013+ E2HE SHE EHE EHE
g |9|%€ (Ho) mg/L 0.0010161 k3 2HE B2HE EHE
£ [10]|AlIRt (CN} mg/L 0.010( 8 =H& 2HE 2HE EHE
A FRIEET) mg/L | 0.05018 EUE =2 224z =HE
=
a |12 S| OHL B A (NHa—N) ma/L 0.50151 JEEHE =dE EHE =HE
{11) {13[HaHE 4 (NOg-N) ma/L 10015} 1.2 1.2 1.2 1.2
14|3128 (Cd) mg/L 0.6050( 51 =HE EHE 2HE EgE
15|2E{82. B) ma/L 1.00151 e 2UE =2HUE EHE
16| Hi= (Phenol) mg/L 0.0050| 6t a84E =d& =UE =UE
17|CH0( 0K+ (Diazinon) mag/L 0.020| 8} s2HE BHE BHE &
18|I2E|l& (Parathion) 0.06018}. | -1 BHE H2EE EHE
19| HILIE2EI (Fenitrothion) ) : BEs s2HE BHUE
20| 2112 (Carbaryl) BHE BHE =&
7 (210 -ECEERE - BEHE BHE 2HE
g 22[HIECI2REH E” BEE BHE SHE
& |23 Eg2 220 28l{Trichloroethylene) CEHE =HE ==iF-]
& 24|22 20 {Dichloromethane) ; i 2HE b-t-1-3 =r=r-
2 25| # (Benzene) a.01015 sH% P BE#E
= |26|=29 (Toluene) mg/L o.7008t 2AE 2YE ga#
(17) |27 |0l E HIA (Ethylbenzene) mg/L 0.30151 =HE =EE EHE
28| 2 &8l {Xylene) mg/L . 0.50|5t_ . e =13 24%
R EEELEE! g/l 0305 2HE 2% 2HE
30 | At 3B A (Tetrachlorocarben) mg/L 0.0020I3} =284 2HE BHE
31fiz-ugza-3-222020 mg/L 0.003015t BHE vl BHE
32|1.4-CH01= &t (1,4-dioxane) mg/L 0,05015t H2HE =HE B2HE
33[g21B 8 A (Residual Chlorine) mg/L 4,008 0.54 0.46 0.46
A |34|=ER| 2 20 EHTrihalomethanes) mg/L 0.10{5} 0.021 0.021 0.023
= |35|22EE5 (Chloroform) mg/L 0.08015} 0.017 0.0%7 0.018
g 3BlE2ACI2EZZHE ma/L 0.030| &t 0.004 0.004 0.005
A [37|UHERIESEZHE mg/L 0.10l5} EHE EHE 2HE
f 38| 222501 =801 E(Chloralhydrate) mg/L 0.03013} 0.0028 0.0051 0.0053 0.0046 0.0054
E I9TEZRR0HELIES ma/L 0.1018} A& =HE SHE EHE =HE
2 [40(USZERUHELIEY mg/L 0.0501 8t 0.0013 0.0025 0.0024 0.0015 0.0021
(10) {41 2|22 20HELEY ma/L. 0.004013} & BHE 2HE 2HE EHE
42 | B 20LHIE Ul A E (Haloaceticacid) mg/L 0.1015t 0.019 0.024 0.025 0.023 0.026
43|38 = (Hardness) ma/L 3000| 3t 33 30 30 30 31
44|t 2beh Mt EAHI 2 ma/L 10013} 1.1 1.9 1.3 1.4 1.1
45 UM S22 WAM) 243E ND = = = i i =
45(0HA =29 28 Z2HE ND = = = e &
47 (& (Cu) mag/L 1018t =HE BHE 2HE =HE 2HE
d  ag|ME (Color) = 501 &t =UE 24% 2HE =& e2HE
2! 49 (MIA (S012HHESA) mg/L 0,508} =k 2HE 2HE BHE 2HE
o [50[22025% (pH) pH 587 8.5 6.8 74 7.2 71 74
# |s1|olet (zn) mg/L 3013t k] 2% EEES 0.003 0.005
2 [s2[zzoe 0 mafl_ | 250016t o 5 0 o 5
(16} |53 |BLHTE ma/l 5000181 54 62 63 63 70
54 (& (Fe) mg/L 0,308} =HE =HE B2HE =HE 2HE
55| 2t (Mn) mafl 0.050] 5} =HE =4EF BHE EHE 2dE
56 (2 (Turbidity) NTU 0.5015t 0.06 0.08 0.08 0.06 0.08
57 |Bat0IE (50,5 ma/L 2000(5t 5 5 5 6 5
58 |2 20IE (Al) mg/L 0.20| 5} 2= EHE =& 244 EHE
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lBoo 08! 07| 09| 08| 08| 07| 08| 09| 0.8
CoD 26 | 28 | 2.7 | 25 | 26 | 24 | 27 | 25 | 2.9
R 0.7 1 0.7 | 0.4 | 0.4 | 05| 08| 1.0 | 0.8 | 1.0
SEMD 10.9 | 10.8 | 12.0 | 11.8 | 11.4 | 11.8 | 11.1 | 9.7 | 8.2
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gELotdE 0.004 | 0.600{ 0.025| 0.000 | 0.000 | 0.000 | 0.000 | 0.009 | 0.000
AMMEAL 1.260 | 1.235| 1.306| 1.284 | 1.24211.274 | 1.225| 1.286 | 1.297
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E&-A | 1.512|1.454 | 1.505] 1.694 | 1.622 | 1.462 | 1.403| 1.451 | 1.506
ol 0.009 | 0.010 | 0.009 | 0.011 | 0.009 | 0.006 | 0.010 | 0.011 | 0.003
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